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E–3038 

 B. Com. (Part II) EXAMINATION, 2021 

(Old Course) 

(Group–I : Accounting) 

Paper Second  

COST ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- lkexzh ds fuxZeu ds ewY;kadu dh fuEufyf[kr i)fr;ksa dks mnkgj.k 

nsdj le>kb, % 

¼v½ igys vkuk] igys tkuk 
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¼c½ ckn esa vkuk] igys tkuk 

¼l½ lkekU; vkSlr ewY; 

c<+rs gq, ewY;ksa dh n’kk esa bu i)fr;ksa es ls vki fdldh vuq’kalk 

djsaxs rFkk D;ksa \ 

Explain with examples the following methods of pricing 

issues of materials : 

(a) First in, first out 

(b) Last in, first out 

(c) Simple average price 

Under conditions of rising prices which of these methods 

would you recommend and why ? 

vFkok 

(Or) 

okf”kZd miHkksx 5000 bdkb;k¡ 

izfr bdkbZ ewY; ` 25 

izfr vkns’k ykxr ` 20 

laxzg.k nj 5% okf”kZd 

C;kt nj 3% okf”kZd 

vizpyu nj 2% okf”kZd 

mi;qZDr lwpukvksa ls ferO;;h vkns’k ek=k rFkk dqy LdU/k ykxr dh 

x.kuk dhft,A 
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Annual Consumption 5000 units 

Cost per unit ` 25 

Cost per order ` 20 

Storing Rate 5% per annum  

Interest Rate 3% per annum 

Obsolescence Rate 2% per annum  

Determine Economic Order Quantity (E. O. Q.) and total 

inventory cost from the above informations. 

bdkbZ&2 

(UNIT—2) 

2- AB fy- esa ,d ;ksX; deZpkjh dh xkj.Vh etnwjh ` 30 izfr ?k.Vk 

gSA ,d fo’ks”k mRiknu ds fy, izR;sd bdkbZ dh ekud le;kof/k 

4 ?k.Vs gSA  P, ,d e’khueSu dks jksou izsj.kkewyd ;kstuk ds vUrxZr 

etnwjh nh tkrh Fkh vkSj og fo’ks”k mRiknu ds fy, fuekZ.k ij 

` 37-50 ds okLrfod ?k.Vs dh nj ls vftZr djrk FkkA ;fn og 

gkYls izsj.kk ewyd ;kstuk (40%) ysrk] rks mldh dqy vk; vkSj 

okLrfod ?k.Vk nj D;k  gks ldrh Fkh \ 

A skilled worker in AB Ltd. is paid a guaranteed wage rate 

of ` 30 per hour. The standard time per unit for a particular 

product is 4 hours. P, a machineman has been paid wages 

under the Rowan Incentive Plan and had earned an effective 
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hourly rate of ` 37.50 on the manufacture of that particular 

product. What could have been his total earning and 

effective hourly rate, had been put on Halsey Incentive 

Scheme (40%) ?  

vFkok 

(Or) 

,d lwrh&oL= dkj[kkus dh ;a=’kkyk ds fuEufyf[kr fooj.k ls izfr 

?k.Vk e’khu nj dh x.kuk dhft,A ;g ekurs gq, fd ;a=’kkyk o”kZ 

Hkj 80% dk;Z{kerk ls dk;Z djsxh rFkk dk;Z #dus ds fy, 

10% O;oLFkk mfpr gSA 

jfookj ds vfrfjDr nhikoyh ij 3 fnu] gksyh ij 2 fnu rFkk 

fØlel ij 2 fnu dh Nqêh gksrh gSA dkj[kkuk lIrkg esa 5 fnu 

8 ?k.Vk ,oa ‘kfuokj dks 4 ?k.Vs izfrfnu pyrk gSA dkj[kkus esa ,d gh 

izdkj dh 40 e’khusa yxh gaSA O;; bl izdkj gS % 

 (`) 

izfr o”kZ 

‘kfDr 40,000 

izdk’k 8,000 

QksjeSu dk osru 20,000 

fpdukbZ rsy vkfn 1,000 

e’khuksa dh ejEer 18,000 

vo{k;.k 13,000 
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From the following data of a textile factory machine room, 

compute the machine hour rate. Assuming that the machine 

room will work on 80% capacity throughout the year and 

that a breakdown allowance of 10% reasonable. 

There are 3 holidays for Deepawali, 2 for Holi and 2 for 

Christmas, exclusive of Sunday. The factory works 8 hours a 

day on 5 days in a week and 4 hours on Saturday. The 

number of machines each of same type is 40. The expenses 

are as follows : 

 per annum 

(`) 

Power  40,000 

Lighting 8,000 

Salary of foreman 20,000 

Lubricating oil etc. 1,000 

Repairs of machines 18,000 

Depreciation 13,000 

bdkbZ&3 

(UNIT—3) 

3- fuEufyf[kr vk¡dM+s ,d mRiknd ds ykxr ys[kksa ls fy, x, gSa % 

dPPkk eky   ` 1]28]000 

izR;{k Je   ` 1]12]000 
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dkj[kkuk mifjO;; izR;{k etnwjh dk 60% 

lkexzh LVksj esa ykSVkbZ xbZ ` 1]600 

lkexzh dk vU; dk;ks± esa gLrkUrj.k ` 800 

ldy mRikn dk 10% nwf”kr gksus ls jn~n dj fn;k x;kA blds 

vfrfjDr 20% eky dks fu/kkZfjr Lrj rd ykus ds fy, dkj[kkuk 

mifjO;; dks ikfjJfed ds 80% rd c<+k;k x;kA ;fn jn~n fd, 

x, eky ds foØ; ij ` 1]940 izkIr gksrs gSa] rks fufeZr mRikn dk 

izfr bdkbZ mRikn ifjO;; Kkr dhft,A 

ldy mRikn 200 bdkb;k¡ gSA 

The following particulars are obtained from the cost records 

of a manufacturer : 

Raw material   ` 1,28,000 

Direct wages  ` 1,12,000 

Factory overhead 60% of direct wages. 

Return of material to store ` 1,600. 

Material transferred to other jobs ` 800. 

10% of the gross output has been scrapped as bad and further 

20% has been brought upto specification by increasing 

factory overheads to 80% of wages. If the scrapped output 

fetches only ` 1,940, find the production cost per unit of the 

finished output. 

Gross output is 200 units.    
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vFkok 

(Or) 

fuEufyf[kr fooj.k ‘kekZ }kjk fy;s x;s Bsdk ua- 333 ls lEcfU/kr gS 

tks fd o”kZ 2017&18 ls ‘kq: gqvk % 

 izekf.kr dk;Z 

(`) 

vizekf.kr dk;Z  

(`) 

lkexzh 1,80,000 20,000 

etnwjh 3,70,000 30,000 

Bsds ds fy, ` 1]60]000 dk fo’ks”k Iyk.V [kjhnk x;kA o”kZ ds vUr esa 

bldh vuqekfur jkf’k ` 1]30]000 FkhA mifjO;; vo{k;.k ds 

vfrfjDr etnwjh dk 20% FkkA izekf.kr dk;Z dk ewY; ` 8]40]000 

Fkk ftlds fy, Bsdsnkrk us ` 7]56]000 dk Hkqxrku fd;kA Bsds dk 

dqy ewY; ` 16]00]000 FkkA  

Bsdk [kkrk cukb, rFkk pkyw dk;Z [kkrk cukdj bls fpës esa fn[kkb,A 

The following details relate to Contract No. 333 undertaken 

by Sharma in the beginning of 2017-18 : 

 Work certified 

(`) 

Work uncertified  

(`) 

Materials 1,80,000 20,000 

Wages 3,70,000 30,000 
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Special plant was purchased for the contract costing  

` 1,60,000. At the end of the year, it was estimated to be 

worth ` 1,30,000 overheads other than the depreciation 

amount to 20% of wages. The value of work certified was  

` 8,40,000 against which the contractee was paid ` 7,56,000. 

The total value of the contract was ` 16,00,000.  

Prepare the Contract Account and show the Work-in-

progress Account in balance sheet.  

bdkbZ&4 

(UNIT—4) 

4- ,d fuekZ.kd dqy eky rhu fof/k;ksa ls cukrk gSA fof/k;ksa dh izfØ;k 

esa ykHk ugha tksM+k tkrk gS ysfdu xksnke dk eky ykxr ij 20% 

ykHk ls cspk tkrk gSA izR;sd fof/k esa Mkys gq, otu dk 10% [kks 

tkrk gS vkSj 15% O;FkZ gks tkrk gS ftl ij fof/k ^v* vkSj ^c* ls  

` 20 izfr Vu dh nj ls ,oa fof/k ^l* ls ` 5 izfr Vu dh nj ls 

olwy gksrk gSA rhu fof/k;ksa ds mRiknu dk fooj.k fuEukafdr gS % 

 fof/k ^v* fof/k ^c* fof/k ^l* 

 ¼Vu½ ¼`½ ¼Vu½ ¼`½ ¼Vu½ ¼`½ 

lkexzh 1000 10,000 550 15,000 200 2,000 

etnwjh – 4,000 – 2,000 – 6,000 



 [ 9 ] E–3038 

 P. T. O. 

O;; – 6,000 – 3,000 – 2,000 

vxyh fof/k esa 

ys tk;k x;k  60%  80%   

xksnke esa ys 

tk;k x;k  40%  20%  100% 

fof/k [kkrk vkSj xksnke [kkrk cukb,A 

A manufacturer produces certain goods through three 

processes. Profit is not included in the process transfer but 

goods in godown are sold at cost plus 20% profit. In each 

process 10% of weight put in is lost and 15% is scrapped 

which from processes A and B realises ` 20 per ton and from 

process C ` 5 per ton. The details of production of three 

processes are given below : 

 Process A Process B Process C 

 ton ¼`½ ton ¼`½ ton ¼`½ 

Materials 1000 10,000 550 15,000 200 2,000 

Wages – 4,000 – 2,000 – 6,000 

Expenses – 6,000 – 3,000 – 2,000 

Passed to next 

process  60%  80%  – 

Carried to 

godown  40%  20%  100% 

Prepare Process Accounts and Godown Account. 
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vFkok 

(Or) 

ifjpkyu ykxr fdls dgrs gSa \ blds D;k mís’; gSa \ mu laLFkkvksa 

ds uke crkb,] ftuesa bl jhfr dk iz;ksx fd;k tkrk gSA 

What is Operating Cost ? What are the its objects ? State the 

undertakings where it is to be used. 

bdkbZ&5 

(UNIT—5) 

5- fuEufyf[kr leadksa ls Li”V dhft, fd fdl izdkj foØ; ewY; esa 

deh le&foPNsn fcUnq rFkk lqj{kk lhek dks izHkkfor djsxh % 

foØ; ewY; izfr bdkbZ  ` 20 

ifjorZu’khy ykxr izfr bdkbZ ` 12 

fLFkj ykxr ` 16,000 

la;U= dh iwjh {kerk 6000 bdkb;k¡ 

izfr bdkbZ foØ; ewY; esa izLrkfor deh  ` 4 
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Explain from the following data, how the reduction in selling 

price affects the break-even point and margin of safety :  

Selling price per unit ` 20 

Variable cost per unit ` 12 

Fixed cost ` 16,000 

Full capacity of plant 6000 units 

Proposed reduction in selling price per unit ` 4 

vFkok 

(Or) 

th- vkj- fy- dk ykxr foHkkx dkj[kkuk mifjO;; dks Je ds 60% 

vkSj dk;kZy; mifjO;; dks dkj[kkuk ykxr ds 20% dh nj ls 

vo’kksf”kr djrk gSA dkj[kkus esa dqy O;; fuEukafdr gSa % 

 ` 

lkexzh 4,00,000 

Je 3,00,000 

dkj[kkuk mifjO;; 1,96,000 

dk;kZy; mifjO;; 1,70,000 
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mRiknu dk 10% LVkWd esa gSA foØ; ` 10]20]000 gSA foŸkh; iqLrdksa 

esa jgfr;s dk ewY;kadu dkj[kkuk ykxr ij fd;k x;k gSA  

,d ykxr fooj.k&i= rFkk lek/kku fooj.k&i= cukb,A 

The costing department of G. R. Ltd. absorb factory 

overhead @ 60% of labour and office overheads @ 20% of 

factory cost. The total expenditure for the factory is as  

under : 

 ` 

Materials 4,00,000 

Labour 3,00,000 

Factory overheads 1,96,000 

Office overheads 1,70,000 

10% of the output is in stock. Sale amounted to ` 10,20,000. 

Stock has been valued at work cost in financial books. 

Prepare a Statement of Cost and Reconciliation Statement. 
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